
L 

2. 

(a) 

(b) 

I 

of 8 GeV/c 

ev·e1.1.ts \·Iitl1 

events wit~ at le2st one 

+ 

tive 

les 

( :L. e. 

-.re clo 110Trever, scaI1 for, !.Jlit i1ot .sure 7 other event 

66-1 

in the 2-metre 

_i_, 211, 202) 

- see below. 

~e scan on views 1 4. 'Chs fiduc:Lal c:.re deterininec1 cm view 1 

In the first scc:u1 we use view l (becm'se it rvrn tlw tter ) 2dd view 4 

is used 

look at vieu 4 l~se ·vieTr 1 for· 

If a frame is not cloeD not wo devo , less 

tl1lU1 three CC:tL1erc?.fJ) COEE:.10IltB 1 to show event ic; rejected), 

but 0;1 the scan sheet 

more easily cUs of an 

eve~nt is not cJ~ec..r, dll<3 to sccre 01~1ts etc., 2;.ilease sc;)re t er.d~:.Lre 1i:LJ.e :".nd 

3. 

of ti~e Tc be precise, we 

rec1uire be~ trac~ to have nt fro:m t~J.e ·oee,m direction 

of less tl1211 5 over cm 

4. 

On view 1, a width of 34 cm on the CERN 2-n~tre 

accepted, 9.5cm to tho t of tl1e first c:coss on t11e e1rtry side a:;.1\:~ • 5 "CID. 

to the loft of it, This 

See 2.ttcwhcd 



5. 

two 

1, a11 oven.ts 

are recorcled. tb_C-; iSCE, 

66-1 

In 

ove~1ts 

• .L 
le 

ass1Jrn.ccl to be 1. If t~10 8\TGYJ.t lit; i11 2, then tnis ~rus~ be 

i1ote-(~ on_ tl1e ;3c211 s~icct a .Al all events are recorded in J_ I 

+ v0 events will be illeasured, the t~ers be ro 

for section measurements or for sor_1e ft~t"L11·e e -'-
G • 

li:ncc: 1Jet1 . .;c.·JJ1 1 arid 2 is the central line 

of the 

s window which a~~ears as 

li:1e. 

6. 

It is of the two ~rongs 

of the v0 should ~Je ,c:,reater ti1an cs. In addition, if the 

lnst 

This is due to the fact the most difficult events are 's 

with short prongs and such events 

7. 

II .2~.1 e1cctro:~1 

to 

is used lcd;er to 

l) 

) 
I • 

r.T1, 0 .J_ J__1_~_. 

tio:~.1 iu 

PS/5187/cLih 

be 

be·t11eGJ.1 elcctro:.J_ 

tuo 

~J~_;t~rec:::1 t 

to occur 

interaction, it is 

0 
or J1. 

of an electro:i:'_ 
c . or is 

clue to c 1rnnce, (:-;) if 

4-
c tl1e 

t rJe2.st1::coc:_, it 

1 TlG l'..88 

j_s al zero fl 

J.1ot zero, 
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high energy i1rone ancl one J.ow energy :prong. 

2) An electron has a1ways minii:mm bubblo density (a1)art from c:.uestion 

of dip). A.· pion of loss than 100 NeV /c 11:ns nt loaGt 3 times ri'J.inimuB bubble 

density. Hence if a tracl~ has a curvature of less than 20 cm radius (100 MeV/c) 

it can be decided if it is a pion or an electron. 

3) 0 
If a V has zero decay angle 7 them if the prone, with lower momentum. 

has more than 100 I.IeV/c, then the ot~wr prong cannot have a r:.1omenturn. less 

than 1.5 GeV/c. For example, ono cannot have momenta of 100 IIGV/c and 700 

IIeV/c for the prongs, or 200 IleV/c and 400 I1eV/c, etc. 0-11<..l still have zero 
0 

angle botueen the prongs of tho V • No such restriction o:~pplios to electron 

pairs. 

Hence, if one finds a v0 with zero angle betvmen tho prongs, 

1) Check on a second view that the angle is also zero. 

2) If lower momontufil ;:irong h2.s '-' radius of curvature of 20 crn or 

less, look at buiJble density if it is more than 3 times it is 

a v0 and the event should b•:: measured - if it is about minimum 

then it is an electron pair, it should not be measured but should 

be recorded 'G.' for gamma. 

3) If both tracks have a curvature of less than 200 cu1, then the 

event is an electron pair. 

4) If one track has a curvature gre0,ter tl1an 200 cm, it ruay be a 

Vo and sl1oulc1 be i;1ec-isured (We take 200 cm radius 1.0 GeV/c 

instead of 1. 5 GoV/ c to correct for di1:i etc.)_. One should write 

on the scan sheet tho topology nunbor 0,ssur:1ing it is a v0 , and 

in the Comments column one should write 1VO/G 1 • See Exar;ipJ.e No.13. 

If a gc.rrma is co iwertod to an electron pa:Lr 2,t the intero..ction °Joint 

these electrons are called ,, Dalitz p2::i_r. These will cc~use the number of 

prongs to be two more than desired. Hence if one of the prongs can be identified 

as electron, then it should be assumed tlmt there exists o. second electron track 

even though it cannot be identified. The event should be recorded as the 

number of non-electron Jirongs and 'D 1 shou1d bo written in tho Comments 

column. Thus a visual 4-J:Jrong would be recorded as 11 2 + Dalitz Pair". It 

PS/5187 / dr.1h 
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may bo notod that t' e riot zero. 

If tho el;;ctron of tho DoJ_ib; is -:Josi .. Civo "'l.J1cn tl1 ot11er cloctron. IL111st 

bo tho nogntivo trnck in a cv0~nt. If tllo CJ lo ctron is nogcLt:L''-v·e, tl1e11 

bost to ro act tho event. 

9. 

Thero nru several bl.u cnusos of ev-c;r1ts vJi t1'1 ar1 odd YllunboT of pro11.gs, 

C QYld SO 

112s too short [t re.nG'C to Jc: -··visi.blo. Tier.co so ovonts should be recorded 

if they occur in 

uf OCCl1ro~'.1CO. 

10. 

If [1, ti ~\.Tc t:r:~.clc 

part:Lclo, it w:ust bo ir:; 

tad in tho procrnR )rOtOl'l., 

If Q tTaclc is end point is cnllod G, 11 or I 

H ii l'I 11 s tl10 e:n.cl is co.J led 

If c-, an cl 1 tb.e L3 c2lled Z. 

oftcr1 0(; r1ned SU~CCC 

but nro liciJlo to bo sufficion s1J.OV.Id 

ll. 

An fo1· 

of bubbles on th,2 tr cJcs. is 

PoJ.loc ' cn1 

1Jo }10tvo n1so 3 clf',fJ;Jc;s end i11 

Tho division sen to bo two times 

PS/5187/drnh 
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minimum sinco this is to looJciI1g~ 

at two overlapping 

infor~ation, in a gonorous rr~nncr, to sos are 

possible. 

L. 2.0 

= 2.0 -· 4.0 

>4.0 

Not sure or forgotten 

l 

') . 
c 

3 

0 L.Li 

1.0 to p 

Q to R 

s 
8 8'CJ.l1C-:,113r 

f::.'..VC)-u_red. 

Tho choice of P~ Q1 R and S be L1C:.G.c ]_,1,ter T-rhor1 TTO }~;_(J.il8 l.'.l.Or'C 

for instance be P = 2.0, Q = 1,5, R = 5.0, S = 3.0. 

one uould :11oast.n'e on IEP. us sco.tters on prongs arc:; recorded as they occur. 

I n , , t Vo r ~nero are · wo 1 s, ShCYLlld C.Jritte:1 down in tho ardor of their 

x-coordino.te, thnt is tho upstrc,DJD onn before tho downstronm ono. 1'he 

ionisation of the beam trac~ is rc:corcJed. 

to \Tri 

measure nou v0 l ue· sl:10uld r~Jc:JO vT"".i te I ,., 4.' 

for 2-prong events since wo iYl tl10 fv~ tuTG • 

12. 

If internction then one t doc:Lc'e 

tl10 trc1.cJc is J.0J1g· ~-:._·~0nsv_rernon_ t 

m.:.casur wl1et:1er or not ti1e -Cta i ·.tor than 2 

2 

If tl1c 

Tho IEP operator is informo~ T"Trit tl1e letter 

1 C1 for Cllt e.2~·. 1 li)Ct .i11_ tJ1c 11 or1-li:ne Cornn1c~nts 11 

Pr</r-1 87/' l ,:) ::>~-- cttn1 
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If tho sagi tta is loss then 2 rnm, then some information can sometimes be 

gained by measuring tho seobndary interaction, but it has been found that, 

in gon.;ral, information from hrn-prong sucondarLrn only is useful. Hence 

if tho sucondary is a two-prong it is mensurod and one writes the track np.me 

nnd the letter 1K1 for the intere,ction point KK in the "on-line Comments" 

column e.g. 'A3K'. ff the second:.::ry interaction is anything other than a 

two-prong, (and the, s2gitta < 2 rnm) then the event should be rojGcted by 

viritings· 1R 1 in the reject column and 'Sec.Int. 1 in the Comments co1urnn. 

Sinco we· scan tw:Lco, :Lt is importo.nt for the compc.rison of sco.ns thc:.t 

He write that '"n ovont is roji.wtucl :md oxplc~in why. Thus if ,o. born.1 tr.::tck 

is v0ry obvi01\sly non-~boaE1, 110 write nothinG, but if it' is only just non-·· 

bo.'.'..rn from curv,~tur0 or .'.1ngle, then it is bett0r to write tho fro.me number 

and topology nncl to write 'H' in tho reject column o.nd 11 non-benm 11 in the 

Comments column. 

14. Topology 

The topology of an event is defined :::.s o. 3 figure number 1 tho first 

figure is the number of prongs ( tro.cks) 1 the second the number of charged 
0 

V's ::c11d the third is the numb<?;r of V ts to be mectsur ed. For oxunple, o. 

o +. 0 1 o/ 2-prong + V + V is c:.L., o. 4-prong + V ep is 401. Thus we will expect 

to moo.sure only 400, 401, 402, ·201, 211, 202, 212 and 203 event types. 

Here we He2sure 401 2nd 402 events only 11hen the v0 is v0 /ep. 

15. A22J:. 

In tho A1:iex column, R == Hegion, 1 == Lnbel of apex. R is to.ken to be 

1, unless the event lies in rogion 2. 'I'he lo.bol j_s h'cken to be A unless 

there :.ere 2 or more events in which c2se ue write B or C or D etc. For 

exc.mple, if there is o. 6-prong and then o. 4-prong, the 4-prong should be 

cnlled B. 

P,S/5187 /du11 
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16. 

Tl1oso 

instrvctiDn consist:J o:i:' 3 ls - 2 t Cof:.110 ch2 trc,ck cmd one for the 

i:nstr1.;_ctions. 1I1h_(Jse nrc F1 or GJ ·:1 01' }~, nncl Z for c1Jr\recl, t nncl 

zero r~'.n,:0 e proton tr::c.c\cs, K or 1 for 

C for ~ trnck to be cut i:n<~or~·.c tio~_i, n: 

or SOLlGtimos for enorgy loss, 

to tr~_cL~ if tt:;. 2 cm. ins tr,;ctions 

I 'IC2Z I 1A2Q I 

17. 

of V nnd than the distnnco in cm of tho V fror o.Jx;x o. g, for 
+ 0 -

V V V OVG:J.C ono urito +5 -15 b (whoro 'b 1 stnnds for 

b l 211J.c co 1 u~ri1n) • 

18. 

il 

proton hns n momontuhl of loss 

Such nn ovont is often cnlloQ n V. Thif; 

:Lev.~' tr:_;,cJ:~s l1l1011 or1c C-_>.11 soc1et5-rnos 

thnt tho tr~ck is n r~ I~ or L. 

is :not ~i.ce;_.,,ble, 

the11 tlL:,,i evon_t v. I:C Jw~rov:,;r it could be 

SC['.Gtor \Ji 

19. 

If z; noutr::l s·c er, come from rm 

intornction is noticed, sJ1ou~lc1 be C 0 J_l1Dll1 C~S 

N3, N5 etc. 

PS/518'7 /clmh 
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20. 

If :;n ovent is cnn 

for t tc> bo mncle to th'" IlJP 01)(;rc:tor, r_:ncl ono wr:Ltes 1P 1 in 

t11e i1Conmontsi1 column. trnnsforring the 

filn to ~:notiwr sketch in th0 

tn,blo ~~d those sketches will t~on bo 

Decision 

)' 0 Vo 

0 

;::::::: 1 G 

p;J/5 




